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QUESTION 1

You are running ASMCMD in a non Interactive mode. Which statement is correct? 

A. After the specified command has run, you are returned to the ASMCMD prompt. 

B. You cannot run scripts in non Interactive mode ASMCMD 

C. You can have arguments when running ASMCMD in non-interactive mode 

D. You always run ASMCMD from the ASM home directory when running in non-interactive mode 

Correct Answer: A 

In noninteractive mode, you run a single ASMCMD command by including the command and command options on the
command line when invoking ASMCMD. ASMCMD runs the command, generates output if any, and then exits. 

Incorrect: 

Not B: The noninteractive mode is especially useful for running scripts. 

 

QUESTION 2

Which two storage hardware requirements are correct for Oracle Database 11g Release 2? 

A. Oracle Database home directory needs at least 7.5 GB of disk space. 

B. Oracle Database home directory needs at least 4 GB of disk space. 

C. Grid home directory needs at least 4.5 GB of disk space. 

D. Grid home directory needs at least 1.3 GB of disk space. 

Correct Answer: BC 

* (Unix) You need at least 5.5 GB of available disk space for the Grid home directory, which includes both the binary
files for Oracle Clusterware and Oracle Automatic Storage Management (Oracle ASM) and their associated log files,
and at least 4 GB of available disk space for the Oracle Database home directory, or Oracle home directory. 

 

QUESTION 3

Which two statements about ASM paths and file names are correct? 

A. Absolute paths must begin from the root directory of the server. 

B. Relative paths start from the Grid Infrastructure home directory. 

C. When an Oracle ASM file is created with an alias file name, you can access the file with either name. 

D. Absolute paths can access a file or directory regardless of the current directory. 
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Correct Answer: CD 

C: Alias names, or aliases, are intended to provide a more user-friendly means of referring to Oracle ASM files, rather
than using the system-generated filenames. 

You can create an alias for a file when you create it in the database, or you can add an alias to an existing file using the
ADD ALIAS clause of the ALTER DISKGROUP statement. You can create an alias in any system-generated or user-
created Oracle ASM directory. An alias must include the disk group name; you cannot create an alias at the root level
(+). 

 

QUESTION 4

Which command can be used to stop Oracle Clusterware and Oracle ASM instances on all nodes in the cluster running
in Linux/UNIX? 

A. #emcrsctl stop crs all 

B. srvctl stop cluster all 

C. #crsctl stop cluster all 

D. #crsctl stop crs d database 

Correct Answer: C 

To stop Oracle Clusterware on all nodes in the cluster, execute the following command on any node: crsctl stop cluster
all Reference: Stopping Oracle Clusterware 

 

QUESTION 5

Select two Clusterware administration tasks that must be performed as the root user. 

A. List the location of the voting disks. 

B. Check the health and viability of the Clusterware on all nodes. 

C. Disable the Clusterware from automatic start at node reboot. 

D. Start the Clusterware manually on one node. 

E. Check the health of the Clusterware on one node. 

Correct Answer: CD 
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